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1 BapuaHT 2 BapuaHT

Onpenenntb QYHKUNIO:

1.y=x22—x 1.y =-2X —2x +3
2.y=-x"—X D y=-2% +2x+3
3-Y=X2‘"X 3.y=2x22+2x—3
4.y=-x *x 4.y= 2x -2x-3




1 BapuaHT 2 BapuaHT

Hantn 3HayeHue koapduumneHTa a:

‘.“

ol 17 : 4 0

1. -1 1. 1

2 1 2. -11
3. 2 3. -6
4 3 4. -1




1 BapuaHT 2 BapuaHT
Hantn 3HayeHue koapduumneHTa b:

i

ot : 4 ot

1. -2 1.-1
2 1 2. -3
3. 2 3. -6
4 3 4, -2




1 BapuaHT 2 BapuaHT
Hauntu 3HayeHue koapduumeHTa C:
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ol 17 : 4 0
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1 BapuaHT 2 BapuaHT




1 BapuaHT 2 BapuaHT

y = -4/x rmnepbona




